Math 112 - Quiz 1 Name l<€£§'
January 17, 2019 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (1 point) In one of the exercises in our textbook, the author claims that the set of all
mothers is NOT well defined. Give at least one reason why it is not well defined.

Does Mo THER ReFez To B\o\_og\g\_ MOTH R, Abo?'\"&b (\f\cﬂ'H&‘J?.J

Psfa&op WHo RA\&EDA e{c. 8 méTHm\ \S Nov CluR.

2. (3 points) Let A = {10,20,30,40,50,...}.

(a) Is it true that 240 € A? Explain your answer.
YE%) A s THE ReY oF POTNTIVE MuLTI\pLEL OF \O,
8\40 \§ A Po&. MUTIBLE oF \0,

(b) Ts it true that 7172 € A? Explain your answer.

NO TVTQ \S NeT A Po%. MU\T, OoF 0.

o

(c) Give a verbal description of the set A.

SEE ARaVE,
A 1S THE SEeY oF n\;c%\T\VE MULTIPLEY -OF

3. (2 points) Let B = {z|z € Nand —7 <z < 5}.

(a) Write B is roster notation.
5
B = % \, 3 ) 33\-\ S
(b) Give a verbal description of B.

B \S The SET oF NATueRAL NUMB RS

STQ.\Q,T\S LESY YHAN .

\O.



4. (1 point) Use a table or diagram to show a one-to-one correspondence between the sets
{p,q,7} and {1,11,111}.

P Vi \

5. (1 point) Determine the cardinality of the set {0, {0} }.

Taees ARE 3 FLeMmen TS ¢ @3 Zgég

6. (1 point) S;lppose A and B are sets with n(A) = 3 and n(B) = 4. Is it possible that
A = B? Explain your answer. :

No, IN oRo® For A ¢ B vo oee w
A ONE-TO-ope CoRREIPONDUICE,
THES MULT HAVE THe S AME NumBy

OF ELuMwTS.

7. (1 point) Let @ = {1,2,3,4,5,6,7,8,9,10,11,12,13,14,15,16}. Write Q in set-builder
notation. )

(,/N(\,)

Q= %_X \ Xe N ans Xé‘:CD



